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In a Physics lab, twe carts of varying mass collide on a low-friction tack m
such a manner that the system can be considered as an isolated system,
The before- and after-collision velocities of the carts are represented by
vector arrows, Which vector represents the after-collision velvaty of cart
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Memeniun and Csllisions

MCS Momenbun Conse neation

In a Physies lab, two carts of varying mass collide on a low-friction track in
. . Anrwer:
such a manner that the system can be considercd as an isolated system.

The before- and after-collision velocities of the carts are represented by EE
vector arrows.  Which vector represents the aRer-collision velocity of cart Check: Answer
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Mome nrum aid Collisions

MCS: Momenrum Consenaticon

The magnitude of the before- and aﬂer-coﬂjsioq momentum of two collidir}g
objects are shown in the diagram below. The direction of.thc momentum is
indicated by the mrows. The change in momentum of sbject Ais kg x
ms. The change in momentum of object Bis kg x m/s, Euter the
letters of the two answers in their respective order with no commas or
spases between letters. (Assign a negative value to all keftward momentum

values.}
a. -15 b. -5 c. 5 d. 10
e. 15 f. 45 g 60 h. 75

1. None of these choices appropriately fill in this blank.
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Mebanve it sl Collisinng

MCE Momenium Conservation

Object A and object B undergo a collision in an isolated system.
arrows shown in the diagram below represent the before- and after-collision
motmentum of object A and object B, Which vector best represents the
magnitude and direction of the momentumn of object B after the collision?
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In a Physics lab, a 1.8-kg brick is dropped from rest upon a 4.6-kp cart

moving cast with a speed of 2.1 mis. After the collision, the brick and cant
are observed to move cast with a speed of 1.5 m/s. Fill in the momentum
table and determine if mommentwn is conserved (within 1 pereent). (Use the Check Auswer
notation that ¢ast is the positive direetion and west is the negative direction. )
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MR Problem Solving - Lnelastic Collininns

In a physics lab, a 0.750-kg cart (A) moving cast at 53.0 ems collides with
a 1.250-kg cart (B) which is moving cast at 18.0 ems. The two carts are
equipped with Velero strips which allow them to move together after the
colision. Assuming the system is isolated, fill in the momentwn table and
deternune the final velocity of the carts. Use the notation that east is the
positive direction and west s the negative directon.
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Momenium in kg + cm/s

Before Collision Aler Collision Enter the final
velority in ns.
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59 Problem Sohing - Elssoie Collisions

In a physics lab, a 0.500-kg cast (A) moving cast at 35.0 emv/s collides with
a 0.750-kg cart (B) which is moving west at 64.0 em/s. Alter the collision,
Cart A moves west at $4.0 em/s. Assume the system is isolated. Fill in the
momentum table and determine the final velocity of Cart B, Use the
notation that east is the positive direction and west 15 the negative direction
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MO0 Mosmenun and Properiunal Rewsoning

In 2 Physies [ab, a cart with a mass of "M’ is moving with a speed of 60
em/s. It collides with a stationary cart with a mass of 'IM". Aficr the

collision, the two carts stick together and move with a speed of

cnv's.
Enter a numenical answer,
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